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General Instructions

1. TS F¥T YA GOET 2021 P Iorg §I6 dgEIEC UV SUle 9 T4 FIET TGIHT P
ST v Qv 59 TE 8/

Model Question papers are uploaded on the Board website have been framed on the
basis of the revised syllabus for Board Examination 2021.

2. Difds—19 IR ¥ T/ GHT TF [AeaTd 78 Gor v [afad R qifea g & s
T qIggmH Al ENT 79T F99F 9S g 147 Tar 8

Due to the COVID-19 conditions schools have not been opened for the students for a long
time. Teaching process has been hampered, hence the syllabus committee has approved a
new Question paper pattern.

3. &l 7o g7 7T e gv GEnRa &/ 597 uFl ¥ qglawed, vF Yl # oV ale, Rad
I G TYOIIAD— | TYFAIAD— || [FeE Fe BT GAaT &/

All the Model Question papers are framed according to the new pattern. Multiple Choice
Questions, one line answers, Fill in the blanks, Short Answer Type - |, Short Answer Type -
I1, Long Answer Type Questions are included in the Question Papers.

4 GUS G VT § P JAF F97 § UF—UF, T GvS J & FAF J97 § 2—2 [Apeq &d 1o
g/

Section C and D have one internal choice and Section E has two internal choices in each
question.

5. GITHT 7 139 T FHIE IV 5F T b 4V H 25% TF JHHX § gleadT dIe goer &
geTgEl & w8/

A change/ variation up to 25% can be there in the unit-wise marking scheme/weightage
of marks as given in the syllabus and in the main Board Examination Question papers.
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Secondary Examination-2021

Model Paper
English
TIME: 3Y4 §ve MAXIMUM MARKS: 80

GENERAL INSTRUCTION TO THE EXAMINEES:

1. Candidate must write first his/her Roll No. on the question paper compulsorily.

2. All the questions are compulsory.

3. Write the answer to each question in the given answer book only.

4. For questions having more than one part the answers to those parts are to be written
together in continuity.

5. Write the correct serial number of each question as mentioned in the question paper.
6. UeHl BT FHIR IR B |

Weightage of marks for the question is as follows.

Section Number of Marks of each Total
Questions guestion Marks
Section (A) 1(itox), 2toll =20 1 20
Section (B) 12t019 =8 2 16
Section (C) 20t023 =4 4 16
Section (D) 24t025 =2 5 10
Section (E) 26t028=3 6 18




SECTION - A

Ques.1 (A) Choose the correct alternative and write the answer in your answer book.

[5 x 1=5]
(1) Water.......oooveeeereeene. [boil] at 100 °C.
(A) Boiled (B) Boil (C) Boils (D) Boiling
(i) The thief........................ [escape] before the police arrived.

(A) Escapes (B) Escaped (C) Escape (D) Had Escaped

(i) Tarun............o.oeeeee. [study] when I met him yesterday.
(A) Was studying (B) Is studying (C) Studies (D) Will study

(iv)yHisson ..................... (go) to school daily.
(A) Going (B) Goes (C) Had gone (D) Go
(V) Try hard and one day you................. (get) success.

(A) Got (B)Havegot (C)Gets (D) Will get

(B) Change the following sentences into Passive voice and write the answer in your
answer book [3 x 1=3]

(vi) Hari has written a poem.
Apoem...........ocveennn.. by Hari.
(A) Is written (B) Was written (C) Has been written (D) Had been written

(vii) The students are playing football.
Football.............. by the students.
(A) Is played (B) Is being played (C) Was played (D) Has played.

(viii) He killed a snake.
Asnake..........c......... by him.
(A) Is killed (B) Is being killed (C) Was killed (D) Was being killed.

(C) Fill in the blanks with suitable modal and write the answer in your answer book
[2 x 1=2]
(ix) There are clouds in the sky. It................... rain today. [Probability]
(A) May (B) Might  (C) Must (D) Should.

(x) To drive a vehicle you....... have a license. (Obligation)
(A) Should (B) Might  (C) Must (D) May.

Ques. 2 -6 Read the passage given below and answer the questions that follow:



We should remember that contented mind and healthy living can help to keep us free
from many diseases. In some ways, it is easier for the people, in developing nations to
achieve positive health because they have more close knit social system, with better
communication between people, than do many people in wealthy and developed nations.
With very little, by way of resources or sophisticated medical facilities we can achieve
positive health for the majority of individuals in our communities.

Questions:
2.  What can keep us free from many diseases ? [1]
3. Why is it easy in developing nations to achieve positive health? [1]
4. Which two types of countries are being compared? [1]
5. Find the word from the passage which means — satisfied. [1]
6. How can we achieve positive health? [1]
Ques.7 - 8 Change into active passive [2 x 1=2]

7. The tiger killed a deer in the park.
8. You should follow the traffic rules.

Ques.9 -11 Fill in the blanks by changing them into indirect speech: [3 x 1=3]
9. My friend said, “Alas !. I have lost my bag.".
My friend ..o bag.
10. The teacher said "The sun rises in the east.”
Theteacher ... east.
11. The doctor said to the patient, "Take complete rest."
The doCtor ......ovveiii e rest.
SECTION - B

Ques 12-15 Read the following passage carefully and answer the questions that follow:

Passage :

One morning the Giant looked out of his window as he was dressing. He did not hate
the winter now, for he knew that it was merely the spring asleep, and that the flowers were
resting. Suddenly he rubbed his eyes in wonder and looked and looked. It certainly was a
marvelous sight. In the farthest corner of the garden was a tree quite covered with lovely
white blossoms. Its branches were golden and silver fruit hung down from them, and
underneath it stood the little boy he had loved. Downstairs ran the Giant in great joy and out
into the garden. He hastened across the grass and came near to the child. And when he came
quite close his face grew red with anger, and he said. "Who hath dared to wound thee?" For
on the palms of the child's hands were the prints of two nails and the print of two nails were
on the little feet.

"Who hath dared to wound thee?" cried the Giant; "tell me, that | may take my big sword and
slay him."

"Nay!" answered the child: "but these are the wounds of Love."



"Who are you?" said the Giant and a strange awe fell on him and he knelt before the little
child. And the child smiled on the Giant and said to him, "You let me play once in your
garden; today you shall come with me to my garden, which is paradise.” And when the
children ran in that afternoon, they found the Giant lying dead under the tree, all covered
with white blossoms.

Questions:

12.  'The Giant saw a most wonderful sight." What did he see? [2]
13.  Who was standing underneath the tree? [2]
14.  Why did the Giant's face grow red with anger? [2]
15.  What did the child say to the Giant? [2]

Ques. 16-19 Read the following passage carefully and answer the questions that  follow:

Passage :

"Water, water everywhere, not a drop to drink," said Coleridge. In the present
scenario, his words sound prophetically true, for our blue planet, seventy percent of which is
water, is reeling from acute fresh water scarcity, especially in the developing and densely
populated parts. It is easier to blame the problem on the changing climate all over the world
but let's admit it, the real culprits are we, the people, for we waste water with impunity - be it
industry, agriculture, washing clothes, cleaning dishes, bathing, flushing, shaving and even
drinking. Do we ever realize how much water gets wasted due to our apathy and
carelessness?

So far we have taken water as granted but we can no longer afford to do so. Rivers are
turning into trickles, lakes and ponds are shrinking and wells are drying up. While the
government can do little about the natural distribution of water, it is doing all it can to
augment availability of potable water and to spread awareness about its judicious use
through audio-visual campaigns in the media. Real water conservation cannot take place
unless people like I and you also do their bit not to waste water. Since water is our life line,
water conservation ought to begin with us.

Questions :

16. What did Coleridge say about water? [2]

17. What makes ‘we, the people' real culprits of the water crisis? [2]
18. Why can't we take water for granted any longer? [2]
19. What is the government doing to ensure availability of water? [2]

SECTION-C

Ques. 20. Read the following passage and answer anyone of the passages questions that
follow.
All things in the universe, including the sun, and the moon and the stars obey

certain laws. Without restraining influence of these laws, the world will not go on for a
single moment you, whose mission in life is service of your fellow men, will go to pieces if
you do not impose on yourselves some sort of discipline and prayer is a necessary spiritual
discipline. It is discipline and restraints that separate us from the brute.

Questions



What will happen if all the things in the universe refuse to follow certain laws?

[1]
What is prayer to man? [1]
What separates us from brute? [1]
Find the word from the passage which means: Rules [1]

OR

When Jambaji was twenty-five years old, a great disaster overtook the whole region. The
small quantity of rain that used to come regularly ceased altogether. The worst sufferers
were the cattle. In the first year of drought, they could eat the bajra straw stored in the
houses. The second year was very bad. There was not a blade of grass left standing
anywhere. People hacked at any trees they could find and fed the animals on the leaves, but
even so there was not enough browse for all hungry animals. And the drought continued for
eight consecutive years.

Questions
I. How old was Jambaji when the great disaster overtook the whole region ? [1]

ii. What did the cattle eat in the first year of drought ? [1]
hii. Why was the second year worse than the first year ? [1]
Iv. Find the word from the passage which means: "Shortage of rainfall” [1]

Ques21. Answer any one of the following questions in about 30-40 words: [4x 1=4]
Griffin was rather a lawless person; Explain? [Footprints without feet]
OR
How can you say that Harisingh was a successful thief ? [The thief ’s story]
Ques22. Answer any one of the following questions in about 30-40 words [4x 1=4]

What happened after the older boy returned home empty handed?
[Feast of the dead]
OR
What is rain water harvesting? [Resolution]

Ques23. Answer any one of the following questions in about 30-40 words: [4 x 1=4]

Give the character sketch of Noodle?
[The book that saved the Earth]
OR

How do the animals keep themselves fit?
[Positive health]



SECTION-D

Ques 24. Write a paragraph in about 75 words on the given visual aid [5]

Education is the A S

Good Citizen

key to success \ i mg‘omh

OR

(I1) Write a paragraph in about 75 words on the given visual aid.
Stop Child Labour

It’s Cruel

It’s Crime

Ques 25. Explain any one the following stanzas with reference to the context: [5 x1=5]

The person, who risks nothing, does nothing, has nothing, is nothing, and becomes
nothing.
They may avoid suffering and sorrow, but they cannot learn feel, change, grow,
love, live.
OR



| fell into grief, and began to complain; | looked for a friend, but I sought
Him in vain, Companions were shy, and acquaintances were cold; they gave me
good counsel, but dreaded their gold.

SECTION - E

Ques 26. Write a short paragraph in about 80 words on any of the following: [6]

My favourite teacher
OR
Importance of school library
OR
A local fair

Ques 27. You are Saurabh living in Jaipur, your friend Dinesh has secured 1* rank in his
school in X Board examination. Write a letter congratulating him on his success.
[6] OR

Write an email to the Director of the School management Rajasthan to send you the
details about the computer courses his institution runs.

OR
Write a letter to your friend Sunil telling him about "The importance of yoga."
You may touch upon the following points
(1) Maintains health and fights from disease.
(2) Keeps physically and mentally fit.
(3) International Yoga day
(4) Regular practice.

Ques 28. Write a paragraph in about 80 words on any one of the followings: [6]

Car pooling
OR
Drunken driving
OR
Advantages of safe driving
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GENERAL INSTRUCTION TO THE EXAMINEES:

1. Weeft FdgH SR U 93 W ARG SAfaria: ford |

Candidate must write first his/her Roll No. on the question paper
compulsorily.

2. Wt ye B Sifard 21
All the questions are compulasory.

3. UAP U F SR 41 T8 SR gRABT 7 & ford |
Write the answer to each question in the given answer book only.

4. 59 w1 § amaR® @ve ® S 9l & SR P IR & ford |
For questions having more than one part the answers to those parts are to
be written together in continuity.
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If there is any error/difference/contradiction in Hindi & English version of
the question paper, the question of the Hindi version should be treated valid.
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7. ¥ &1 YBR T4 3id e Frarger 8 —
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Section-A
e —1 it uel 3§ A T |98 e &1 999 o) SayRaer § fafey —

() =T e @ma (Reiferd / STaRelferd) 8T 8—

(81) 120,/80 Hg mm (@) 150 /90 Hg mm
(&) 170 /60 Hg mm (g) 140 /60 Hg mm

The Normal blood pressure (systolic/diastolic) is -

(A) 120 /80 Hg mm (B) 150 /90 Hg mm
(C) 170 /60 Hg mm (D ) 140,/60 Hg mm
(i) = 1 &1 fee T ' —
@nuwmIfdd 3t (@) Dfcamra
(#) STEaTefaT (@) Frafe
Chemical name of Vitamin C is -
(A) Ascorbic acid (B) Calciferol
(C) Riboflavin (D) Niacin
(iii) SMATST B HH F B AT I ® —
(a) efiefy @) Recw
(F)erET AT TeTUS (GIEIERE]

Disease caused due to deficiency of lodine.

(A) Night Blindness (B) Rickets

(C) Goiter (D) Sterility
(iv) Hoset = SailRre Hee ganT fha urey W fay ?

(e1) TR @) Ja

(%) SerT #eR () TR

Mendel's experiments related to Genetics was done on which plants ?

(A) Tomato (B) Apple

(C) Garden pea (D) Carrot
(v) v Scarfad ufoRefl ® —

(37) IgE (@) 1gD

(%) 1gG () Ig™

The first antibody produced is ?

(A) IgE (B) IgD
(C)1gG (D) 1gM

(vi) ITAT Y9 g & —

(81) Yo 98 'AB’ (@) o 998 'O’



(%) <o e A (3) ¥oRT WHE B

Universal donor blood group is -

(A) Blood group 'AB' (B) Blood group 'o'

(C) Blood group 'A' (D) Blood group 'B'
(vii) YFT T DT @i fha @ ?

(a1) BTet Ave IR A @) Jvse A

() dead 7 (&) IEHTS A

Who discovered the blood group -

(A) Karl Landsteiner (B) mendal

(C) Batson (D) Rutherford

(viii) SFell ¥ UTIT ST dTel 37 ® —

(&) fafge ot @)ufafes s
(%) EESITARG 37 () TeRe st
Which acid is found in tamarind
(A) citric acid (B) acetic acid
(C) Hydrochloric acid (D) Tartaric acid
() 2T femalt ¥ BrY ATl s & —
(1) srgepaviia siffhar (@) S 3fAfHaT
(@) g IrfAfdear SEIESIEZURSIEIET]
Reaction which occurs in both directions .
(A) Irreversible reaction (B) reversible reaction
(C) Reduction reaction (D) Oxidation reaction
(x) BT BT T FAD BT & —
(1) TT H @) i H
(@) fafa # (@) Ferem= o
Speed of light will be maximum in -
(A) Water (B) Glass
(C) Vaccum (D) Glycerin
frifea ool & SR te dfdm § g —

9.2 o Ik Bl aReIiRT ST |
Define Power of lens.

9.3 EEAdT Bl gRHIYd Iy |
Define Magnification.

U4 B H AEG fRay

Write unit of work.

U. 5 fdd Bl uRATNT BIRTY |



Define Power.

9.6 ARw®H IR fv el # Rerd g | 1
In which district 'Sariska Sanctuary' is Located ?
9.7 A fraed fow a=oia R # org Sl § 7 1

Fyling squirrel is found in which wild life Sanctuary ?

U .8 WHde Yollfa fhd Ped & ? 1

What do you mean by 'Endemic Species' ?

Rea wm & gif w7 SR SR gRaer & fafeg |

T 9 SN 9q fafderdr e B AT ST 2 | 1
International Biodiversity day is Celebrated on ........ccccceecvvveiivcieeeeennnen,
Y. 10 R BT TSI ST ST oo = 1

National Aquatic animal of India is ........ cccoeeeieiiiieeeciieee e,

9. 11 Sl Sgel | uTg S drell faferdn, fawsar den uiRRerfaesia sifeetar —....... HEATH
= 1

The diversity, asymmetry and ecological Complexity found among the biological organisms is

called.....ccoevveneenireinnne
g — §
Section-B
U. 12 % &1 gafera HIfvg — YoaX4=2
did A (fAerfas) D B (fAe™= & & | 89 dret M)
(i) faeT@T - A (i) ReocwH
(i) faerf= - ¢ (i)  Tpdl
(jii) faeT®= - D (i) Yer
(iv) faeT#AT - B3 (iv)  <dren
Match the following -
Column A (Vitamin) Column B (Deficiency disease due to Vitamin)
(i)Vitamin A (i) Rickets
(i) Vitamin C (i) Scurvy
(iii) Vitamin D (iii) Pellagra
(iv) Vitamin B (iv) Night Blindness

U. 13 HUSH F AU WANT & foIg Hex & Ul Bl & Rl FA1 ? BRI WL DISY 2
Why did mendel select Pea plant for his experiments ? Give reasons.
U. 14 S Sited H Uge 819 dTel &l 3l U &l &Rl & 19 oy | YoX4=2

Write the name and uses of two strong acids and two strong bases used in daily life ?

9. 15 gIuidl & fdqdwd 8 & al SRl faalay | 1+1= 2




Werite two reasons for the extinction of wild life animal.
U. 16 HHCUX USTiadl &l fIged 8 4 g9 & folg IS R R a1 Y3 fby S e
2 ? 31 gana fafay | 2

Write two suggestions for the National level efforts made for the conservation of endangered

species.

9. 17 Yl Bl AR AT DI THifbd f&ra - 18¢ | 2

Draw the Labelled diagram of showing the internal structure of the Earth.

9. 18 gHfeId BIfSTY — YoaX4=2
Dl A Dicd B
(i) g, i) Rmr s
(if) DT (i) amEER YR
(iii) == (i)  3INTSSI HTSaH
(iv)araet (v)  fefewn vrema
Match the Columns -
Column A Column B
(i) Wheat (i) Zea Maize
(ii) Mai (i) Cicer arientenum
(iii) Gram (iii) Oryza satirum
(iv) Rice (iv) Triticum aestivum
9. 19 (i) 9Rd # fag= feaw fog o w=irr Sfram € ° 141 = 2

(ii) 'S A 3P <A’ & AW A b Isf~d BT ST ST 27

(i) On Which date science day is celebrated in India ?

(ii) Which scientist is known by the name "Bird Man of India"

Qus —4
Section-C
g. 20 feuoft farRay | 242 =4
(i) HEHARGT TTeT
(i) TTRI P Fag
et

feaofl ferfay |
(i) XM DI UTeA
(ii) ST FERT

Write short note on-

(i) Apieulture



(ii) Lac culture

or
Write short note on-
(i) Sericulture

(i) Dairy Industry.

g. 21 fsl T1 =% faadfe wfdaal o e Sy | 242 =4
3T
fgl <1 arga fdade wfdadl &1 arer Hifg |

Describe any two Internal tectonic forces.

OR

Describe any two External tectonic forces.

Y. 22 Sf. TULYL. 37egel Pl BT Siigd ga U fae § S AN BT guie By |
2+2 =4

3rerar
R AL AT & g g UG fasm § S AR BT o DI |

Discuss the life history of Dr. A.P.J. Abdul Kalam and his contribution in science.
or
Discuss the life history of Sir C.V. Raman and his contribution in science.

. 23 W I GReTo ) fewoft fofRau | 4

rerar
g T IReror R fewely faRau |

Write short Note on In-situ Conservation.
or
Write short Note on Ex-situ Conservation.
grg — §
Section-D

. 24 (i) If< AMIAT BIOT BT A9 450 B T GRIGAS BT BT A =T BT | 243 =5

(i) U forg ST ol 9 5 9AL 0 R @ 7, I o9 B BIHd 0 20 AL BT Al
yfafer &1 Rerfa vd Wy a1 89 7

AT



(i) Uh o @1 &\l + 4 SRR & Al S9! BIeHd g0 a1 8T ?

(i) U 3faddl TUUT B BIhd T 30 WAL 7, Il tar 9 15 JH. g IR & Il ©
1 gfafew @ Rafd vd sy war 8 |

(i) If incident angle is 45° than what is the value of reflection angle.
(ii) An object is placed at 5 cm. from a convex Lens. If focal length of convex lens is 20 cm. then
find the position and nature of the image ?
OR
(i) The Power of a lens is the dieoptor. what will be its focal length ?
(i) Focal length of a concave mirror is 30 c.m. if an object is placed at 15 cm. from the mirror
then find the image position and its nature.

Y. 25 DA Ud B Sl Th UBTS! WR ded & Forga Sars 15 Hex 2 | BAdT Tg g9 Sl
BT I RER & Sl & 38 [HIM § | A I USISl & Y W 19 APHUS ¥ ygaa
2 SIdfd T 15 APHUS ¥ & USRI & oY R U Ol & | Q1 R UgIel W FgA

¥ @ B TS AT BT YUS — YAB W R BN (g = 10 m/s2) 2+3 =5
3rerdT
() 60 WeT Th dod 6 TV G Sefrdm Sfrem & a1 30 fa1 § et fobee faga e &
SUIT BT 2

(i) P 7 H 30 AT & 9% DI 10 A I8 W of ST Sl & df A gy fban
T B fHaaT BT ?

Kamal and Harish climb a 15m hill. Kamal and Harish has mass 38kg. each. Kamal reach top of
hill in 19sec while harish reach top of hill in 15 sec. Find the power used by both of them to
climb a hill. (g = 10 mls?)

OR
(i) A bulb of 60 w is used 6 hour per day for 30 days then what will be the energy consumption
in electric unit.
(i) If an object of 30 kg is lifted to 10m height with the help of a mechine calculate the work
done by the machine.
gre— g
Section-E
Y. 26 (i) 9194 9T GF &I A™ifdd I a9189 | 3+3 =6

(ii) A9g # gred &1 fhar fafr &1 avi= S|

AT

(i) AT Ta9991 A &1 AMifehd = §918Y |
(ii) 7T9g #3999 @7 fohar fafdy &1 gvie SIS |

AT



(i) TG TSI TF BT AMIfbd forF 18y |
(ii) AT § SToiA @ fhar fafr a1 avi= P |

(i) Draw a labelled diagram of human digestive system.
(ii) Describe mechanism of digestion in human.
OR
(i) Draw a labelled diagram of human respiratory system.
(ii) Describe mechanism of respiration in human.
OR
(i) Draw a labelled diagram of human excretory system.
(i) Describe mechanism of excretion in human.
g. 27 feuoft faRay | 24242 =6

(i) TR HheuT

(i) TRCS —<ART FhuHl
(iii) I Hpou
3fexdn
femoft forfag |
(i) FIfSTH FARTSS & STANT TR
(ii) FIfSTH EESiIsS & SUINT R
(iii) IfPT ATST BT ST W

3rerar
fewofy foag |

(i) pH TP

(ii) 37T TuT

(i) faRST® Tot & IUART

Write short Note on

(i) Arrhenius concept
(i) Bronsted-Lowry concept
(iii) Lewis concept
OR
(i) Uses of Sodium Chloride
(ii) Uses of Sodium hydroxide
(iii) Uses of Baking Soda
OR
(i) pH Scale
(ii) Acid Rain



(iii) Uses of Bleaching Powder

Y. 28 IETERYT Wfed ARAT BT | 2+2+2 =6
(i) TSI AfAfehar
(ii) 3rTEresl b
(iii) TorerusT srfafshar

AT

STERY] Aigd ARAT HIFTY |
(i) STTaRATHROT AfHfhAT
(I EEERRIEIERI
(iii) YSfeT rfAfehar
arerar
JETERVT Afed ARAT DI |

(i) SETAIBROT 3ffafshar
(if) T SIRB
(i) 9T SSRB

Explain with example -

(i) Addition reaction
(ii) Dissociation reaction
(iii) Replacement reaction
OR
Explain with example -
(i) Oxidation reaction
(ii) Reduction reaction
(iii) Redox reaction
OR
Explain with example -
(i) Neutralization reaction
(i) Homogeneous catalyst
(iii) Bio-catalyst
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GENERAL INSTRUCTION TO THE EXAMINEES:

1. werreft wdueM U e uF W MG Iifarda: forg |
Candidate must write first his/her Roll No. on the question paper compulsorily.

2. T T TR ifared 2|
All the questions are compulasory.

3. U Ue B SR 41 T8 SR gRaa 3 & fod |
Write the answer to each question in the given answer book only.

4. f5 yeAl # IR @ue § 89 9l & SR e A & ford |
For questions having more than one part the answers to those parts are to be
written together in continuity.

5. U U & =l WX Sl SURRY # falt yeR ot e/ R/ TRy g9 W) =)
AT & U3 DT FE T |

If there is any error/difference/contradiction in Hindi & English version of the

guestion paper, the question of the Hindi version should be treated valid.
6. U¥T &I SR for@y | qd U &7 HHIS aey ford |

Write down the serial number of the question before attempting it.

7. 91 BT PR FFER B
Weightage of marks for the question is as follows.

@'Ug_a:{(A) 1(itox), 2toll 20 1
@us—4(B) 12t019=8 16 2
@us—(C) 201023 =4 16 4
@vg—g(D) 24t025=2 10 5
@us—(E) 26 t0 28= 3 18 6

8. U3 HHIP 20 W 28 dP ¥ A=< fdbey B |



(Tvs 3)
ue 01 Fifda oAl A @ A N |98 oew o1 799 R U+l SR gRaaT 7 forRag |
YD U 01 b BT 8|
Choose the correct option from the following questions and write it in your answer book.

Each question carry 01 mark. (10x1=10)
() 9RF g9 BT ARATIS BI o7 ?

(&) T A @) fagar

(%) arem (@) T faspfee

Who was the founder of maurya dynasty ?

(A) Chandragupta Maurya (B) Bindusara

(C) Ashoka (D) Chandragupta Vikaramaditya

(i) A MY [ABTA cilg W™ @ AT8d = Al 39 7 § | 9 I Bl
YA B ?

(@) PR (@) W

(%) feeefr (3) wreferg

If you want to see the Gupta period's iron pillar, then which of the following places
would you visit ?

(A) Kanpur (B) Sarnath

(C) Delhi (D) Paataliputra

(i) 71 § & AT IR @ Al IR & 7 arefl 788 sl g ?
(1) Il BT (@) wof TR

(&) o= TR () BT T

Which of the following is the canal joining the Mediterranean sea and the Red sea ?
(A) Varsali Canal (B) Suez Canal

(C) Panama Canal (D) Keel Canal

(iv) TSI ARTel gRASHT o # 9 fhd 9 ) erfidg g ?

(&) T @ =g

() et (@) ) BT

Bhakra Nagal Project is established on which of the following rivers ?
(A) Ganga (B) Yamuna

(C) Satluj (D) Krishna

(v) Fr=1 & ¥ BT g gafora @1 8 ?

(31) SIFTATR—3TSTHR (@) fUBreT—SeaqR

(%) ATBTR- g% (3) BIBATR— SIEYR

Which of the following pairs is not correctly matched ?

(A) Anasagar- Ajmer (B) Pichola- Udaipur

(C) Talchhapar- Churu (D) Fatehsagar- Jodhpur

(vi) SUST TT& 'Democracy’ BT <! rgaT 4 H | BT & ?



(31) ATH @) ST

(|) Foma= (@) Sudad wl

Which of the following is the Hindi translation of English word ‘Democracy’ ?

(A) Loktantra (B) Jantantra

(C) Prajatantra (D) All above

(vii) “Arpd= < AT BT W1 DI g =7 T8 HAF e H fbd

fagm w18 ? 1
@n e @) S.u9. e

(%) elfaer () &iam

Which of the following philosopher says- " Democracy increases the spirit of patriotism"” ?

(A) Gatell (B) J.S. Mill

(C) Lawell (D) Hernshaw

(viii) T Hfded H A & e G&T fha FeiiRa off 2 1
(&1) 500 @) 552

() 530 (€) 545

In the original constitution how many Loksabha members number were prescribed ?

(A) 500 (B) 552

(C) 530 (D) 454

(ix) PR BT STAFN Fed AT & ©F H SYANT HRAT HEAT & — 1
(87) fiHROT (@) argRiferra

(&) g =hor (]) wHTRRT

Using waste as a useful raw material is called -

(A) Gasification (B) Pyrolysis

(C) Recycling (D) Incineration

(x) TRT § UH YAqEi AT B FHATER R B | 1
(31) 1951—1956 (@) 1950—1955

(9) 1961—1966 (2) 1974—1979

What is the time period of the first five year plan in India ?

(A) 1951-1956 (B) 1950-1955

(C) 1961-1966 (D) 1974-1979

frfofea gl & ST w@ dfda § dfg—

Answer the following questions in one line -

UeT HHIG — 02 W 08 TP B FHI ¥l & PR TH—T B | 1X7=7
¥, 2 qE9 9 BT ARATIH DI o ? 1
Who was the founder of VVardhan dynasty ?

Y. 3 \IoguTe ! STOTII=T 319< Ug UR g7 ¥&dl & ? 1

With whose consent does a Governor remain in his office ?

U 4 9RT § IS B QU9 &7 dd IS HH I B fhd-l STIa&dT &1 Uit

HT B ? 1
Each member of the assembly of states in India represents at least how much population ?
U. 5 ORI & fhbd TR BT A T 9 $HEl 911 g 2 1

Which city of Rajasthan is also known as Cement city ?



g, 6 g fafds dar fead &9 79 e § 7

When is National Legal Services Day celebrated ?

Y. 7 W MRA A (TTI) &7 PIs Uh 3830 qad1sy |

State one of the objective of Swachh Bharat Mission (Gramin).

¥. 8 Aba=l & Udh ®U AHINIG Alba=’ &1 a7 31ef g ?

As one form of Democracy what is the meaning of 'Social Democracy' ?

R T i # Rag wme o gftf o= SR gRae § foafay | 1@ a9 o1 oiF &7 8,

Fill up the following blanks & write it in answer sheet. Each Question carry 1 marks

9. 9 YRA ¥ e ST H e ST BT YIH I B ?

The e state ranks first in oilseed production in India.

T 10 TTBH 96 T e HT IMASHR fHar fo FaR @1 T 9 Hifd o 1

Graham Bell invented ...........ccccoen..e. , which revolutionized the world of communication

U, 11 IIORT IATET BT G <3 BT faeq # gor I 7 ?

In terms of millet production the country ................. is ranked first in the world .
gues—q

9. 12 91 FTel H FAEdl & BRI a8y |

Describe the works of the Samaharta during the Mauryan period.

9. 13 JUcic TaC Pl Bl BT &1 HET Sl & ?

Why is the Rowlatt Act called a black law ?

Y. 14 Adhal Bl 9T & ? BIg QI Adbal BAdl & AW faIlRay |

What are cash crops ? Write the names of any two cash crops.

9. 15 3 [daR F Aeh USRI Bl BH B & o7y o1 Y fbd S =iy ?
What do you think should be done to reduce road accidents ?

9. 16 IRA ¥ 3N o™ & &3 a1 e qarsy |

State any two objectives of economic planning in India.

9. 17 5l ek & E UgUT Bl §R B & (oY AT 9T YA B ?
What efforts will you make to removed the industrial pollution of a city ?

9. 18 |lhad &I Ahaldl gg AMaId Py al URRfR faRay |

Write any two conditions necessary for the success of democracy.

Y. 19 SAIHHT I & DIy al B fRgy |

Write any two functions of Lok Sabha Speaker.

gres—
Y. 20 ISR ST |1 2000 &1 AR HIRT |
3RAdT
ARA H AR gig & YT BRUI D ARAT HITOTT |
Explain the National Population Policy 2000.
OR
Explain the major reasons for population growth in India.
¥ 21 TR IR & UHE U 918y |

3ferar
RGN & I3 QI UHRI BT FErd quid I |
Describe the major measures for poverty alleviation.
OR




Briefly describe any two types of unemployment .

Y. 22 U SUHIGIT & WU H 3T DI BT I didl bl fded e |

arerar
o & AMTHR ARIH 2005 & A MY HA UBR a1 YT B |

What duties will you perform as a consumer.
OR
How will you get information under Right to Information Act 2005.

U, 23 YR & Ui & fAur wfddal &1 avi= S |
3frdT
IR & YEHA & IR U BT BT qui HIFSTg |
Describe the legislative powers of the President of India.
OR
Describe the four major functions of the Prime Minister of India.

Yus—q
¥. 24 ARA & AW # 99 sifea difvg —
IR & U UgE B a3
3RAT
qRA @1 Ul U el gfedt
Mark the following on the map of India -
Five major coalfields of India.
OR

Five major mineral boxes of India.

Y. 25 YRd & AR § fAHfeRad Ufaeiye wral &l difbd sy —

1 fQeell 2. ogws 3. 9l 4. BHER 5 FARY
3frdT
1. AR 2. T3 3. SR 4. TREYR 5 el
Indicate the following historical sites in the map of India -
1- Delhi 2. Lucknow 3. Jhansi. 4. Kanpur 5 Banaras
OR

1- Amritsar 2. Bombay 3. Jaipur 4. Gorakhpur 5 Calcutta



GUe—g

. 26 Aed-d Hleid TR & fRaR | 9ofF #ifog |
3frdT
BAUfY Rrarll & v Iudfet o1 guie IR |
3frdT
R <d AIE & UHE Uil BT 9o HITg
Describe the Sultanate administration in detail.
OR
Describe the major achievements of Chhatrapati Shivaji.
OR
Describe the major achievements of Hammir Dev Chouhan

Y. 27 JITHROT BT IGLRN BT faRdR I ol BT |
31T

IR referaver # anfdfe uRi &1 deg § qoi= Sifoig |
Jrerar
IS BT AR BT fIRaR A 9o BT |

Describe the global concept in detail.

OR

Briefly describe the economic reforms in the Indian economy.
OR

Describe the concept of Swadeshi in detail.

¥. 28 IogUTed & U H MY {1 erfdqal &1 SuanT &xdt | auie difg |

3frdT

TEHA & U ¥ 3MY fHa—{h= il &1 ITIRT HT | qoiF BT |
3frdT

faET T 3remel & HU H 3MY HIHA—BIF F BRI B | g BHIRTY |

What powers will you use as Governor. Describe
OR

What powers will you use as Chief Minister. Describe
OR

What tasks will you do as the speaker of the Legislative Assembly ? Describe
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2. Wt ye B Sifard 21
All the questions are compulasory.

3. U Ue B SR 41 T8 SR gRaa 3 & fod |
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@'U@'—GT(A) 1(itox), 2toll 20 1
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@us—(C) 20t023=4 16 4
w@us—g(D) 241025=2 10 5
@us—3(E) 26 to 28=3 18 6
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Yvs— i

ue 01 Fifea ueAl A 9 A T 98 vey &1 999 R el SR gRa®T | faRag |

YAP YT 01 3P BT & (10x1=10)
() 17 &1 o BN —
(31) 189 @) 289
(|) 389 () 169

The Square of 17 will be :

(A) 189 (B) 289

(C) 389 (D) 169

(i) U f(x) =4x+2 Hx=2 I R 9IS &I 99 8N —
(

&) 10 (@) 8
(@) 12 (6

By putting x=2 in polynomial f(x) = 4x + 2, the value of polynomial will be :

(A) 10 (B) 8

(C) 12 (D) 6

(i) fgemd sgug x%2 —2x —8 @ BT BT IANT BN —
(@) —2 @ — 8

(&) 2 @) 8

The sum of zeros of polynomial x>-2x-8 will be :

A) —2 (B) —8
(Q) 2 (D) 8
(iv)sin% HT A BRI —

@ 1 OF

@) V3 (@ o

The value of sin %will be :

@) (8)

() V3 (D) 0

(v) T SHER @ & WRels, T & 915 & IR ©, al g &7

S~IT BT BT —
@ar) 45° @) 30°



The shadow of a vertical pole is same the height of pole, then angle of elevation of sun will be :

(A) 45° (B) 30°
(C) 60° (D) 50°
vi) fdg (5 —2) @ x — 31T & 2 BRA —

@) 5 @) 2

(®) 3 () 4

Distance of point (5, -2) from x-axis will be :
(A) 5 (B) 2
(C) 3 (D) 4
(vii) JMTRAT H DE 11 BCEI, AD= 4 |HI, BD=6 ¥l TAT AE= 5 |HI &, dl EC
BT A BN —

(@) 6.5 T @) 7.0 ¥
(&) 7.5 A @) 8.0 T

(vii) In the given figure DE Il BC, AD=4 cm, DB=6cm and AE= 5cm, then measure of EC will be :

(A) 65cm (B) 7.0 cm

(C) 75 cm (D) 80cm

(viii) T R fIvgeil & oA dTel gl & @ § —
(eT® @ <

(@) T () =t
Number of circles which passes through three collinear points is :
(A) One (B) two

(C) zero (D) infinite

(ix) el T ST 6 HHI B, el BT M- BT —

@ 16m T @) 20m O A
(4) 36m °FT A (8) 30m T W

The diameter of a sphere is 6 cm, the volume of sphere will be :
(A) 16mcm’ (B) 20mcm’
(C) 36mcm® (D) 30mem®



(x) 9 1,3,2,5,9 BT ARID & —

@) 3 (@) 4

)
)
The median of distribution 1,3,2,5,9 is :

@A) 3 (B) 4

(C) 2 (D)5

9.2 93 TRge™ &1 UANT &R 105 BT & S DI |

Find the square of 105 by using 'sutra Nikhilam'.

2 () 5

9.3 12 & g9%d 93 FRges & s sy |
Find the cube of 12 by using 'sutra Nikhilam'.
g 4 AR AN 6,9,12,15 oo P17 91 UG A PHINT |

Find the 7" term of the A.P. 6,9,12,15 .....coeur.......

9.5 ﬁ@a@wsﬁ?wwﬁaﬁ% | I8 od © b ¥ gRT
AT SiaT &1 ITfddr E g dl, WM B Sidd &I UIfdhdr /1 grfy ?

Two players Ram and Shyam plays a chess match. It is given that probability of winning of the match

4
by Ram is x Find the probability of winning of the match by Shyam.

U.6 Tdh U Bl b Hhdb ¥ AT F&AT' 37 DI IRl ST DITOTY |
In a throw of a dice, find the probability of getting a 'prime number'.

9.7 b ge 0 H R0 ey |

Write the equation of ' Stopping distance sight'.

g. 8 drsdl & o amawdd Ul g . B WX AW ey |

Write the full name of P.U.C. which is essential for every vehicle.

9.9 a3l (2, 3) 3R (5, 6) @ & BN T oo BT |

The distance between the points (2,3) and (5,6) will be..................... .

9. 10 UP R g 9 9ad 999 g1 WR Il drel 9w &1 675 9T BT |
The locus of a points which are equidistant from a certain point will be ............ .
U. 11 UH U BT Bhd W "4 F BT 3fd " I d uifdar ... BT |
In a throw of a dice the probability of getting ' a number less than from 4' will be ...............
Qs — 1
Section B
9. 12 " g anT A ¥ 7225 &1 A ST DI |
Find the square root of 7225 by using ' Dwandwa Yoga Method'.
9. 13 Ud GUTd 9gUe 91d DINIY, R bl &1 AT a1
UM% HA: — 3 iR 2 T



Find a quadratic equation whose sum of zeros and product are -3 and 2 respectively.

U 14 NG x = 2 &7 sedly Y & g A=y qwigd | 2

Show the solution set of the inequality X = 2, graphically.

U. 15 2sin45° cos 45° BT AT SITd DIV | 2

Find the value of 2sin 45° cos 45° .

U. 16 Udh UBTS! &I ol Aot I 60° &7 HIvT g41a1 2 | Af RER d@ uga # 500 2
HIeR AT gSdl 8 Al YBTSl Bl 918 A1 dIfor |

The slope of a hill makes an angle of 60° with horizontal. If to reach at top, 500 meter distance have to covered

then to find the height of the hill.
u. 17 & g @i # Al 0A = 530, AB = 8 ¥ dor 0D, Sirar AB R &4 g @ CD &1 91
ST DI | 2

A " B

D

In the given figure if OA=5cm, AB=8cm, and OD perpendicular to chord AB then to find the value of CD.

D

U. 18 TdH 10 ¥ oIHTg BT Ud T WU Wid HR ST 2:3 H M<IRE fIe P | 2
Draw a line segment of length 10 cm and divide it into 2:3 internally.

Y. 19 Udh Y T 12 ek $d Uld & WY R UPh CCTV HHRT el © dlfh
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9 R & 0TI & UTS (Feet) & a8 0, 9@ ST & Iramand fawms
<l €, S BT | 2

A CCTV camera is placed on the top of a 12 m high pole in such a way that traffic can be seen beyond 13 metre of

line of sight of it. Find the distance from the feet of pole beyond which the traffic on road is visible.

s —
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. 20 fig @Y @1 a5 (1.-2), (3, 0), (1, 2) 3R (—1,0) TH o & MY T} 4
arerr

g PITY & T T IS S RER F79T B & |



Prove that points (1,—2), (3, 0), (1, 2) and (—1,0) are vertices of the square.
OR

Prove that two equiangular triangles are similar.

¥. 21 Rig #IRT & g (@, ), (—a,—a) i~ (—V3a,V3a) & 4

AT et & o 2 |
areran

S T Sl | A YoiTel &1 JuTd SRIER 81 Al i PITg b aMr Brget
TR Y B |
Prove that points (a, a), (—a, —a) and (—\/§a, \/%) are vertices of a equilateral triangle.

OR

If the ratio of the corresponding sides of two triangles is equal, then to prove that the triangles are similar.

U, 22 &1 TS ARG H g Bl BT 7 AHI B 3G gd H 99 I BT &FAB F1d DI | 4
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& TS el ¥ ga @1 B O T Broar 5 W 2| afe OP L 4B, 00 L CD
AB 11 CD, AB=8 T 3R CD =6 ¥HI &I dI PQ SITd PISIY

In the given figure radius of the semicircle is 7 cm. Find the area of the circle formed inside the semicircle.

<m

OR

In the given figure centre of the circle 'o' with radius 5 cm. If OF L AB, OO L CD ag|| CD, AB=8 and CD=6
cm. Then find PQ



U. 23 &1 g AThHIT H AB I BT AT © dAT AC= 6 WA g BC= 8 WAl 81 I BIIIfhd 9T 4

C

BT AFTHS T DIFY |

Jrerdm
&1 TS Sl H DENBC & AT AD =X, DB=X-2, AE=X+2 3R EC=X-1 B Al X BT AN T HITIT |

c

A 5] B

In the given figure AB is diameter of a circle, AC=6 cm and BC=8 cm. Find the area of shaded portion.

c

OR
In the given figure DE Il BC, if AD = x, DB=x-2, AE=x+2 and EC=x-1 then find the value of x.

c
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AT

AT BT

1| 9T BT I A 21trh

2 | g @I uRfeg B JI2+ b2 + k2

3 | g9 BT f[apor C 4
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4 |39 g T BT YOS &FHe D IXbXxXh

5 | €9 BT 3Ia E 27T
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Draw a circle of radius 3 cm. Construct a pair of tangents from point P 5 cm away from its centre. Also measure
the tangents and verify by calculation .

OR
Match the following
1 Volume of cylinder A 2nrh
2 Circumference of the circle B \/lz 4+ b2 + B2
3 | Diagonal of cuboid C 4
§ nr
4 Surface area of solid hemisphere D IXbXxh
5 Volume of cube E 2nr
6 Surface area of sphere F 4mr?
7 | Volume of cuboid G 3mr?
8 Area of the portion between two cocentric H ad
circles
9 Volume of sphere [ nrlh
10 | Curved surface area of cylinder J w(rZ — rf)
g 25 =1 \Rads AT 9 &1 Meda AT gRT 8t NG | 4

x+3y=6 2x—3y=12
Jrrdr
=1 IRaes THixor I @1 e fAfYr g™ g IR |
4x — 5y =20 3x+5y =15
Solve the following pair of linear equation by graphical method.
x+3y=6 2x-—3y=12

OR



Solve the following pair of linear equation by graphical method.
4x —5y =20 3x+5y =15
qgue — 3

U 26 Udh forfae Ac & fafdr R 99 600 S1d). g 7 o 99 700 S1d. Al &1 Scured oydl &
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arerar
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A manufacturer of T.V. sets produced 600 sets in the third year and 700 sets in the seventh year. Assuming that
the production increases uniformly by a fixed number every year, find

(i) The production in the 1% year (ii) The production in the 10" year
OR

There is a small island in 100 m broad river and there is a tall tree on this island. P and Q lie on the opposite
banks of the river such that P, Q and tree are in the same line. If angle of elevation from P and Q at top of the tree
are 30° and 45° respectively then find the height of the tree.

OR

Find the mean of the following frequency distribution by step deviation method.

Class interval 0—10 10—20 20—30 30—40 40—50

Frequency 7 10 15 8 10

U 27 IR GOV FHR ST H 2| Ife AR BT ANTHS 50 dAT e do! GRT, A BT AR
DI TR AT AT AT AT DI | 6

AT

Rig Iy

sin @ +1+c059
1+ cos@ sin 8
31erar

= 2 cosect
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Eni 10—25 25—40 40—55 55—70 70—85 85—100

EIRESING| 6 20 44 26 3 1

Four numbers are in A.P. If sum of numbers is 50 and largest number is four times the smaller one, then find the
numbers

OR

Prove that

sin @ 1+ cos@

1+ cosé@ + sin 6 = 2 cosecd
OR
Find median of following Frequency distribution
Class interval 10—25 25—40 40—55 55—70 70—85 85—100
Frequency 6 20 44 26 3 1
T 28 AR al 3,15,27,39 ........... 639 @ UQl @I AT S DINTY TAT 3T 891 U A dIToTy |
6
34T
sin 30°+tan45°—cosec60°
sec30°+co0s60°+cot45° 1A ST T
3T

1 g7 &1 79 7.5 B A P BT HF S HINY 8IR g &I Jgd W S HIfoTg |

X 3 5 7 9 11 13
f 6 8 15 P 8 4
Find the number of terms in A.P. 3,15,27,39 .............. 639 and find 8" term from last.
OR

Find the value of

sin 30°+tan45°-cosec60°
sec30°+cos60°+cot45°

OR

If mean of the following distribution is 7.5, then find the value of P and also find the median of distribution

X 3 5 7 9 11 13

f 6 8 15 P 8 4
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